1076 NADI SANGAM SCHOOL

YEAR 7
MATH

WORKSHEET 1 - SOLUTION

CONVERTING UNITS OF LENGTH

Larger to smaller unit —> multiply

x1000 x100

f\f\f\
\J\J

+ 1000 + 100

divide €<— smaller to larger unit

1. Convert from larger to smaller unit indicated:
a) 90mm b) 56300cm c) 3217000m

d) 179000mm e) 27300000cm f) 21000000mm

2. Convert from smaller to larger unit indicated:
a) 3cm b) 0.63m c) 0.704km

d) 0.00235km e) 0. 107m f) 0.000243km

3. Work out the answers.

a) 61cm

b) 1.2mx8=9.6m 1.12mx 6 =6.72m [the underlined one is longer]

c) 4.8 x100=480cm 480cm +40cm =12 pieces
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